CBSE Class 12 Chemistry (For Blind) Compartment Question Paper 2020 (September 24, Set 4- 56(B)/C)

B

=%
Series HMJ/C SET-4

Code No 56(B)/C

s, (T [ mm
woll No, W AT g | I S

Candidates must write the Code on the
title page of the answer-book.

qre NOTE
(1) <puAl I A foh 39 Y- H Hﬁ?{ (I) Please check that this question
g8 23 2 | paper contains 23 printed pages.

(I) 9=R4-9= H 2T 819 <hl 3TN feu T Hig (I) Code number given on the right

= ps gl ~ B | ﬁ'{_aﬁ.ﬁm * T@-J8 W hand side of the question paper
@ | should be written on the title page of

the answer-book by the candidate.

(ITI) <h9l S | b 39 W93 H|(III) Please check that this question

37 999 7 | paper contains 37 questions.

(IV) 9T 3% &l I i@l IF %+ T|(IV) Please write down the Serial
U, STl H U T hHTH Number of the question in the
CEEORGICH answer-book before attempting it.

(V) 99 T34-9H &l qa?f % 1%@ 15 T8¢ <1 (V) 15 minute time has been allotted to
aug feam ™ 2 | Y- R fode read this question paper. The
‘31\3'1—&? ¥ 10.15—9 ToRam M@ | question paper will be distributed

10.15 91 ¥ 10.30 S5 % S had at 10.15 a.m. From 10.15 am. to
YH-9F I UeN N 3H G & R 10.30 a.m., the students will

= e read the question paper only and
d I I T HIE IR T l will not write any answer on the

answer-book during this period.

W W e (Sgias) 2

(= T T T e
CHEMISTRY (Theory)
(FOR BLIND CANDIDATES ONLY)
[FETRT a3 - 3 5v2 37EHTH 37 : 70
Time allowed : 3 hours Maximum Marks : 70
.56(B)/G 1 P.T.O.

collegedunia:

India’s largest Student Review Platform

~

—



i [E]

ok

3777-777&7'79%?7':

[AETfcTiEgd 13391 ®1 T57 Il @ 9ieq 37K 37T ad & e By :

(i) I8 Y97-99 9% @S] 7 f[Qyifaa fear @ 8 — &, @, T U9 g | 39
o797 4 37 J¥7 & | @41 ¥97 37179 & |

(i) WU & H 397 G&1 1 T 20 7% 3ld TH-ITIT PR & J97 &, I9PH J97
1 37% &1 & | II9% J97 &1 I U o IT U i H /o7 /

(iii) @I @ H Y97 &7 21 & 27 T TY-IHIT JHR & ¥94 &, Jdbh Jo7
2 37h] HE |

(lv) TUZ T H 97 G&I7 28 G 34 T HH-3TIT IHR-1 & I97 &, JcI% 97
3 37l HTE |

(v) @YE T YT J97 &I 35 & 37 T 3149-3FH0T JHR-I1 & F94 &, Tcdh Jo7
5 37h F & [

(vi) Y¥7-9F T I GHY [dheq 781 & | 99, e1-cl 3H & gt yol 84, a7l
3Hl & GHLYTI H TIT Gra-9re 371 & @7l I971 H 3l [dheq 1537
T &/ UG Y1 H & T U &1 fdheq 1 Ik ST |
(vii) 3TD Hldikth, HETVIFHATAR, I&IF @S 3T Jo7 & G JI=T 14535 13T
g |
(viii) Popciel YT T a7 F FIIT H1 FHIT g1 8 |
QUE &

30 7T 3778 #1 YU a1 ¥97 &g 1 8 5 & I T ; 1x5=5

g9 Tehid 1S T H g YNEAT ¢@d 8 | 3a8ne, =l A
IR S & T TahH 9t § it W 9 Tl & 9 &, JeEn
B dlel I § W@ W a8 33d @, e | ugrd farfeerat @ afterg
2 | B¢ 3] S° ST & AU 3 THAgA 9 Tl Tehd & | Tdd™&h
JdTE %1 Jg TshH TUE heddldl & | 98 ¢1F Sl Toh [9aieh & YaTg
! AT Ushdl &, Taet== T TIE 6 hadldl & | JUE ¢e QU U

a9 R, Taera i Aieial o IIshATYTd gl & |
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper compnses four sections — A, B, C and D.
There are 37 questions in the question paper. All questions are
compulsory.

(iz) Section A — Question nos. 1 to 20 are very short answer type
questions, carrying 1 mark each. Answer these questions in one
word or one sentence.

(i11) Section B — Question nos. 21 to 27 are short answer type questions,
carrying 2 marks each.

(iv) Section C - Question nos. 28 to 34 are long answer type-I
questions, carrying 3 marks each.

(v) Section D — Question nos. 35 to 37 are long answer type-II
questions, carrying 5 marks each.

(vi) There 1s no overall choice in the question paper. However, an

internal choice has been provided in 2 questions of two marks,

2 questions of three marks and all the 3 questions of five marks.
You have to attempt only one of the choices in such questions.

(vit) In addition to this, separate instructions are given with each section
and question, wherever necessary.

(viit) Use of calculators and log tables is not permitted.

SECTION A
Read the given passage and answer the question numbers 1 to 5 that
follow : I1x5=5

There are many phenomena which we observe in nature or at
home. For example, raw mangoes shrink when pickled in
brine, wilted flowers revive in fresh water, etc. The substances
are bound by membranes. Small molecules like water can pass
through these membranes. This process of flow of solvents 1s
called osmosis. The pressure that just stops the flow of solvents
1s called osmotic pressure of solution. Osmotic pressure 1is
directly proportional to molarity of the solution at a given
temperature.

CHINVER TR HLIMECH S TR R LI H I THYTH LN BT RYTRLINI
= 2
3 =
T -]
=
a z
& -]
im [ | [ |
T VRS TR LI H SRS T YR LM H TVEST VR LMD ERSST RV |'\1I.f'
1% 1YL L O T LS PGS L L PSS et | 1 LR P S s | 1 L I | N 1 L I S 0 | L 0 P 1 LRI L0 L e T Y Rl PN

@
&collegedunla;
India’s largest Student Review Platform

—



i [E]

i

1. 1 M I AR 1 M NaCl H, 7689 T faa™@= &1 & gie 7Y
BT 2 1

2. ok UThideh 3TN Tk G fecil 1 9 foiflgy S 9ueeor 3 93
! AT Tehdl BT | I

3. I WH-AMM H Yilsd fohel ARk i SIFeL 5 A TET T 9k o ol
QS &= | T 2 1

4. TH 9UGI 9T I U TA § hH GHATdd hL Tohd & ? 1

5. SI=q iSRS H T ®1eR e (R.B.C.) 0:9% NaCl & %
1Y TUIUEd B | T BIdT 8 S AT BER Hivehiell (R.B.C.) Rl

1% NaCl faer = § @1 Sl & ? 1
Y97 G&I76 & 10 & I U 9Isg 37947 U i § FI1orT | 1x5=5
6. Wlcid GRT TRl U¥H Ichte T Jifireh bl HF 7T | I
7. THea SoladlSl & HY ol THedl A18de o fagfq-3m™eed ¥ Uit

3Gl <l ITfE ST | 1
8. [Fe(CN)gl3— hl Hoh(Ul TeTRET | 1

(a1 711 2 : Fe o1 THIY] shHTh = 26)
9. I o TolshdTshIul sh ShRUT shl TeTRIT STa UTehd TIEH H Hildeh 37aT

N IRIEER IICRERE S I 1
10. 37T a7 U TEAfaal o A8l Hg bl Iufedtd FANEAT <l AriHen

gfereemas arfrfsharati o gta sAffshamsfierar sier <dl 2 | o= 2 1
.56(B)/G 4

@
&collegedunla;
India’s largest Student Review Platform

—



1. OutoflM urea and 1 M NaCl, which one has higher osmotic
pressure of the solution ? 1

2. Name one natural and one synthetic membrane that can be
used 1n 0SmMosis. 1

3. A doctor advised a person suffering from high blood pressure to
take less quantity of salt. Why ? 1

4. How can we convert sea water into potable water ? 1

5. The Red Blood Corpuscles (RBC) in animal cells are 1sotonic

with 0:9% NaCl solution. What will happen when RBCs are
placed 1n 1% NaCl solution ? 1

Question numbers 6 to 10 are to be answered in one word or in one

sentence. I1x5=5

6. Write the formula of the first noble gas compound prepared by
Bartlett. 1

7. Predict the products of electrolysis of an aqueous silver nitrate
with silver electrodes. 1

8.  Write the hybridization of [Fe(CN)g|3~.
(Given : Atomic number of Fe = 26) 1

9. Write the cause of denaturation of proteins when native
proteln 1s subjected to physical or chemical change. 1

10. The presence of nitro group at ortho/para positions increases
the reactivity of haloarenes towards nucleophilic substitution
reactions. Why ? 1
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T57 &7 11 T 15 Fglase9id J97 & | 1x5=5

11. [Pt(NHjs)y Cly] T &&1 AR UL.TH. M & 1
(A) + - 7 (IT)
(B) + * 7 (IV)
(C) T - 7 (0)

(D) . : 1 (IV)

12. CHj3 - CH — CH,Br o ToiU 98l 31189, 9.0 5. 98 =1 7 ? I
G,
(A) " 1-SIH1-2-TfreTyIoH
(B) 2-sH]-2-U[¥a1-2-HieTueH
(C) 1-HI-2-HideTsgH
(D) 3-UfIA-4-STHIIA

13. YN o a9 H HHATIRgd 92l § 9 hi9-971 9al & ? 1
(A) TIeH

(B) €l$ﬂ!5r%l€i|€l$€
(C) ol A+
(D) Ui
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Question numbers 11 to 15 are multiple choice questions. 1%H5=b
11. The correct IUPAC name of [Pt(NHg)y Cls] 1s 1

(A) diamminedichloridoplatinum (II)
(B) diamminedichloridoplatinum (IV)
(C) diamminedichloridoplatinum (0)

(D) dichloridodiammineplatinum (IV)

12. Which 1s the correct IUPAC name for 1

CHs — CH — CH,Br ?
|
CoHj5

(A) " 1-Bromo-2-ethylpropane
(B) 2-Bromo-2-ethyl-2-methylethane
(C) 1-Bromo-2-methylbutane

(D) 3-Methyl-4-bromobutane

13. Which of the following terms are correct about starch ? 1
(A) Proteins
(B) Dinucleotides

(C) Nucleic acids

(D) Amylopectin
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14, HRGd § ¥ -1 e SI.TA.U. H 39 7g7 & ? 1

(A)  UHH
(B) 9¥HM
(C) HrserEH
(D) I

15. THIRgd § 9 H-H1 Y e &l BESIhled H gididd o
foTe T3<h Bidil & 2 1

(A) Ui g9+

(B) TSH-SIH 3ATHTshaT
(C) <hIHSIRI SATHTshAT
(D) dle%-fhe AT=IH

UyT &7 16 @20 & 70, 31 &97 170 70 § (579 vk &1 19697 (A)
TAT TEX FT BN (R) ZRT 3HTbd 647 T § | 37 T941 & @gl 37 41
13T 7T F1ST (i), (ii), (iii) R (iv) T & GTH G0 : 1x5=5

(1) AR (A) T RO (R) SHT &l I & 3T I (R),
371TeReA (A) <hl Tg I B |

(i) AT (A) AR RO (R) AT &l Y &, Td dRU (R),
3TNTHIT (A) <h T8 AT TET 2 |

(iii) 3T (A) T&l 8, d R (R) TAd Y 7 |
(iv) 3Tehd (A) TAd 8, W SR (R) T8l A 2 |

16. 377497 (A) : Ol Tag[q-SA=resll <hl TTeTehdl dJehiol I ol & |

HRU(R) :  TIPWI i W Yid Fohls A H TREI bl &
gedl 8 | 1
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14. Which of the following bases 1s not present in DNA ? 1
(A) Adenine

(B) Thymine

(C) Cytosine

(D) Uracil

15. Which of the following methods 1s used to convert ketone into
hydrocarbon ? 1

(A) Aldol condensation
(B) Reimer-Tiemann reaction

(C) Cannizzaro reaction
(D) Wolft-Kishner reduction

For question numbers 16 to 20, two statements are given —one

labelled Assertion (A) and the other labelled Reason (R).
Select the correct answer to these questions from the codes

(1), (i1), (itr) and (iv) as given below : Ix5=5

(1) Both Assertion (A) and Reason (R) are correct
statements, and Reason (R) 1s the correct explanation of
the Assertion (A).

(1) Both Assertion (A) and Reason (R) are correct

statements, but Reason (R) is not the correct explanation
of the Assertion (A).

(111) Assertion (A) 1s correct, but Reason (R) 1s incorrect
statement.

(iv) Assertion (A) 1s i1ncorrect, but Reason (R) 1s correct
statement.

16. Assertion (A) : Conductivity of all electrolytes decreases on

dilution.
Reason (R): On dilution, number of ions per unit volume
decreases. Ji
.56(B)/G 9 P.T.O.
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17. 39397 (A) : &1 g fafe Gehiss 3™%hl & |G & ol T
gl & |
HRU(R) : & Toad (Y gRI Sigd8e & Grgul =l ai@ o
fohaT ST Wehat 8 | I
18. 37%Y7 (A) : A [M(NH,),Cl,] o SATHA THTIIS YU TUIh
g & |
HRU(R) : ThA b qHI SATHAT THEIE! H A& shl GHMIT Bidl
3 | 1

19. 379%FYT (A) : BT BIEHIH aadTss! & a1 AT 781 wid et
UcehlaTal ATITsHIT Hd 2 |
FRU(R):  SHA H ARG & HRU C — O AWY T AR
fg-3TTeY TI&I0T BIdT @ Sslieh Uoshlgicl H UHT A8l gl | 1

20. 3YFHYT (A) :\HIL TAZH GIEHT ¥ 94 Bld @ 3 GH AT 7 Biem

HL=HT Bidl 8 |

FRI(R) : el i Tgdfiaes GiaHT WAl STl o1 750 © | 1

Q@ uE @
21. R ST 2
(a) Yad Tl WG 9 § S o 391 31YdT A1 o Jehd H
31fereh FHY AT @ |

(b) M9 ¥ gig = a1y Afufskan o ¥ gig Bt 2 |

HAAT

foreft 31frfshar A + B — P <k foru g feam man 2

a7 = k [A]° [B]
(a) Ffq Al Higal gt o f ST, a1 HIHishat o1 a7 fehH TehIT

gHTierd BN 2
(b) ¥iq Bogd Mo H UM gl dl SAHIShAT T Hod ST AT 8 72 2
-56(B)/G 10
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17. Assertion (A) :

Froth floatation process 1s used to concentrate
sulphide ores.

Reason (R): Bauxite can be nicely concentrated by the froth
floatation process. 1
18. Assertion (A) : The geometrical isomers of the complex
IM(NHj4),Cl,] are optically inactive.
Reason (R): Both the geometrical isomers of the complex
possess axis of symmetry. 1
19. Assertion (A) : Phenols do not react with phosphorus halides
while alcohols do react.
Reason (R): In phenols C — O bond has partial double bond
character due to resonance while it 1s not so 1n
alcohols. 1
20. Assertion (A): All enzymes are made up of proteins and all
proteins have a three-dimensional structure.
Reason (R):  Secondary structure of proteins is a sequence of
amino acids. 1
SECTION B
21. (Give reasons : 2
(a) The boiling of an egg or cooking of rice in an open vessel
takes more time at a hill station.
(b) Rate of a reaction increases with rise in temperature.
OR
For a reaction A + B —» P, the rate 1s given by :
Rate = k [A]” [B].
(a) How 1s the rate of reaction atfected if the concentration of
A 1s doubled ?
(b)  What 1s the overall rate of reaction 1f B 1s present in
~ largeexcess? 2
-56(B)/G 11 P.T.0.
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22,

23.

24.

25.

20.

27,
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ﬁﬂ%ﬁﬁﬂﬂﬁww 2
(a) INYF shl IH-3TNehdd fafer § TREH <6l |

(b) UAHHIH o YU H HIEATATSE ol |

AT

fafeiaa o fau wep-ush 3t v - 2
(a) &EhIT TTeTeh 3T AFATT TTeTeh
(b) TS 3T HIW o ToHES IhH

e, hefem 3R TR (INT) T & AR 3eh ToHe HH Bid & |
ST hI[WT | 2
fAfcRad @& U ssror d . 2
(a) SAHEIT T Fobed ST Al 8 Selleh FHHIH ¥ &l sArar |
(b) [Ni(CO),] ' FIqsherchid ST BT & efeh [Ni(CN),]2-

I GHAT & |

IR T STi%ishaTaTl § A 3T B sl YgTHT 2

(@) CHy-CH=CH, — -5 ,o_ Nal g

Br

‘ o
(b) CH;- CH - CH, - CH, feprgiett KOH | ,

JqifiTeh CoHgO o I YhMITcHS THTTIT A 3 B2 | NaOH 3R I, %
1Y T FH W GHEIT A JAREh ol el FAI&Y §491d 8 SAefh
gHTEId B his 379&9 &l a41d1 | A 3R B shl @A fafgu 2

(a) THEEAH IR TEIgah SHI & NS SgAh Hheald o | TH
d f= g | o ?

(b) ShcATSE dTUGG SETeh FT1 & 2 2
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22. Write the role of the following : 2
(a) lodine in van Arkel method of refining.
(b) Cryolite 1n the extraction of Aluminium.
OR
Give one example for each of the following : 2
(a) Basic Flux and Acidic Flux
(b) Sulphide ore of Zinc and Copper
23. Zinc, Cadmium and Mercury are quite soft and have low
melting points. Explain. 2
24. Account for the following : 2
(a) Ammonia readily forms a complex whereas ammonium
1on does not.
(b) [Ni(CO),l ~possesses tetrahedral geometry while
[Ni(CN)4]4~ is square planar.
25. Identify A and B in the following reactions : 2
(a) CHs~ CH=CH, —3br , o Nal g
Peroxide Acetone
Br
‘ Alc. KOH BI'2
(b) CH3 — G H — CH2 — CH3 > A > B
26. A and B are two functional isomers of compound C;H;O. On
heating with NaOH and I,, isomer A forms yellow precipitate
of 1odoforms, whereas isomer B does not form any precipitate.
Write the structures of A and B. 2
27. (a) Homopolymers and Copolymers are called addition
polymers. Yet they are different. Why ?
(b) Why 1s bakelite a thermosetting polymer ? 2
-56(B)/G 13 P.T.0.
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28. 3-90 g d~dAIgsh 3IFA 49 g S~ H i T T84k d 1:62 K ol
AITHT BT B | 91 B Uk ehfod <hifete. 3R faer 6 wepfd

(TIfUTG 31T Toioid) bl STk shifore | (TG 1 8 @ d=silgeh 3t
1 HITl geIHH = 122 g mol-1; =i % Tt Kp= 4-9 K kg mol-1) 3

SHAAT

Teh TITI bl Teh TATSIRIA et o 30 g &l 90 g A H Taeq &ich
ST AT 8 | 3TehT 298 KW a9 219 2-8 kPa & | 39 faeia= # 18 ¢
I IR HarT Sar 8 998 1 a9 @« 298 K W 2-9 kPa &1 STdl

2 | Taeig o A 2o9q™ 1 Uieha iU | 3

29. =uleu foh oM e h1 affha 3 %a‘?ﬂm@@ﬁﬁwmwﬂ
s ol £ & o TEE T I BT | 3

HYAT

STe foRelt werm <hife i 31fifshar < a9 # 9ftads 300 K& 350 K &rd
2 d9 39T A7 T 4 x 102 ¥ 9@t 24 x 1072 8 T 3 |
Hishau ol (E,) qiehictd shifT | 3

(feam 71 2 : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021,
log 6 = 0-7782, R = 8:314 J K-1 mol-1)

30. AN hicise 3T AT hIASS & g did HAdL TARIY | I1x3=3
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SECTION C

28. 3-90 g of benzoic acid dissolved 1n 49 g of benzene shows a
depression in freezing point of 1:62 K. Calculate the van’t Hoff
factor and predict the mnature of solute (associated or

dissociated). (Given : Molar mass of benzoic acid = 122 g mol—1,
K¢ for benzene = 4-9 K kg mol—1) 3

OR

A solution containing 30 g of non-volatile solute exactly in 90 g
of water has a vapour pressure of 2:8 kPa at 298 K. Further,
18 g of water 1s then added to this solution. The new vapour

pressure becomes 2:9 kPa at 298 K. Calculate the molar mass

of the solute. 3

29. Show that the time required for the completion of %th of a
first-order’ reaction 1s twice the time required for the

completion of half of the reaction. 3
OR

The rate constant of a first-order reaction increases from
4 x 1072 to 24 x 102 when temperature changes from 300 K to
350 K. Calculate the energy of activation (E,). 3

(Given : log 2 = 0-3010, log 3 = 0-4771, log 4 = 06021,
log 6 =0-7782, R = 8:314 J K-1 mol-1)

30. Write three differences between Lyophobic sol and Lyophilic
sol. I¥3=3
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31. NU SIWT : 3
(a) HshHU UTqU HHTRIG: T ATk ST 8 |
(b) TShHYT UTqU AAT §eh 3T-eh AN IAH 3IcULeh hl Y hid & |
(c) TshHYT U3 hl UM T-Aedl & AF 3= B & |
32, TafaRaa i Frert d favg & o fou Tt adeqor €T @ 1x3=3
(a) TU-a TR JHTH
(b) SlIgeh A IR BHTA
(c) UHIfcerTsE AN S=dfcsrTss
33. fafafea afyfshaneti 4 A, B 3t C &I qg=HT 3
(a) CgHsCH,CI B~ Sw/HO o O o
Ueehigicll KOH
(b) CH3NH, MO a9 g KON
34. TAfRaa = gieaiya v 3t Ieis & oY Teh-Tsh IuRh 3ee
IS 1x3=3
(a) Sidalaeh (Tf-eemaiiish)
(b) i
(c) T TiIErh
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31.

(Give reasons : 3

(a) The transition metals generally form coloured
compounds.

(b) Transition metals and their many compounds act as good
catalyst.

(c) The enthalpies of atomisation of the transition metals are
high.

32. Give chemical tests to distinguish between the following pairs
of compounds : Ix3=3
(a) Propanal and Propanone
(b) Benzoic Acid and Phenol
(c) - Acetaldehyde and Benzaldehyde
33. Identify A, B and C in the following reactions : 3
NO CHCI
(a) CgH5CH,CI e 4 BO/EQL ° 5 C
Ale. KOH
HNO PCl
(b) CH3NH, 2 5 A 5,32 ¢
34. Define the following and give one suitable example of each : 1Ix3=3
(a) Antibiotics
(b) Antiseptics
(c) Food Preservatives
-56(B)/G 17 P.T.0.
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35. (a) 0-1 mol L1 KCI foci¥d ¥ W §T Ush =TcAehdl HoA I Ty
100 Q 3 | e IH A &1 JaUeg 0-02 mol L1 KCI foer=H
T T 520 Q &1, 9l 0-02 mol L1 KC1 fae== <ht ITciehdl @
A ATeAehdl URehidd shifeid | 01 mol L-1 KCI o™= <hl
ITARAT 1-29 x 102 Sem—13 |
(b) TfeRgd =pt gityTivg = -
(i) 399 9
(i) T SR =T (A 342=5
AT
(a) 298 K 9T forEt O o AHfiRgd O« STWishaT & fu O«
a8 (emf) GehlTd shiTaU
Mg (s) | Mg2+ (0-:01 M) || Sn2+ (0-1 M) | Sn (s)
O _ 9.
E3_ =2204V
[log10 = 1]
(b) <hIUT EINIT :
(i) I HIEIH H Alg 9T S doit o e & |
(ii) god Tod-Sfu=el o Ty ATT@ gr A 1A HET EE
T8l 8 | 3+2=5
56(B)G 18
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35. (a)
(b)
(a)
(b)

CHINVER TR HLIMECH S TR R LI H I THYTH LN BT RYTRLINI

: 3
3 =
T 5
=

a z
x +
: u i
AR THW AN IR TRY R N HIE=THY R INEC =T RY R |'\-|I.f'

1% 1YL L O T LS PGS L L PSS et | 1 LR P S s | 1 L I | N 1 L I S 0 | L 0 P 1 LRI L0 L e T Y Rl PN

SECTION D

The resistance of a conductivity cell filled with
0-1 mol L-1 KCI1 solution is 100 ohms. If the resistance of
the same cell when filled with 0-:02 mol L1 KCI solution
1s 520 ohms, calculate the conductivity and molar
conductivity of 0-02 mol L1 KClI solution. The

conductivity of 01 mol L1 KCl solution is
1-29 x 102 Sem—1.

Define the following terms :

(1) Fuel cell

O
(i1).. Limiting molar conductivity (/\ ) 3+2=5

OR

Calculate the cell emf for the following cell reaction at
298 K for the cell :

Mg (s) | Mg2+ (0-01 M) || Sn2+ (0:1 M) | Sn (s)
EC . =2204V

cell

[log10 = 1]

(G1ve reasons :

(1) Rusting of iron becomes quicker in saline medium.

O
(ii)) It is not possible to determine A_ for weak
electrolytes graphically. 3+2=5
19 P.T.O.
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36. HIIREd o TTT RO GINT - Ix5=5
(a) H,S ! a1 4 H,Te 3714 31T 7 |
(b) AR hI 3T FAIA hl A1ey foio wdedt 7 Bt 8 |
(¢c) TIANA shadd (— 1) SATFRATHLUT YT ST 8 ik 3T
aAH + 1, + 3, + 5, + 7 TR0 STFLATY i S0l 2 |
(d) ST 1 9ifd giferad 3R 319 Jifieh T8l a11d |
(e) ToHL SIIATFHZS Teh dTg UG @ |
T
(a) GG STIHTshaTl o 10 Fqfeld TEHeh FHIHUT ey
(1) —XeF, + H,O >
(1) XeF, + O,F, >
(b) =HRUT EITT

IIZ'-'I'\-Il.l'l.'. FALHCT LIt TR LR L% e | Y R LHCR LA | VT |
g £
= T
F -
— I.
I i
:
Tt | BRI T D B 1S T N B | S I L] A T Y S
N T R R M N e TR R B H N = TR R R H IS = T R e R e TR R H N TR R R R B TR B R0 T N e TR R0 H T s TRY L Rl

(i) |l BATSH T Bl 2 |
(ii) FARE ! NaOH foei@d & A1 AMUGHAT AFHTYTAH
ffsham 8 |

(iii) HTg oW 3 H HoR[h 3 [dedd oH1d 99
gl AT =T8T | 2+3=5

20
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36. Account for the following : I1x5=5

(a) H,Te 1s more acidic than H,®S.

(b) Fluorine has lower bond dissociation energy than

Chlorine.

(c) Fluorine exhibits only (— 1) oxidation state whereas other

halogens exhibit + 1, + 3, + 5, + 7 oxidation states also.
(d) Helium and Neon do not form compounds like Xenon.

(e) Sulphur dioxide 1s an air pollutant.

OR

(a) - Give balanced chemical equations for the following

reactions :

(1) X6F2 -+ Hzo >

(b) Give reasons :
(1) All halogens are coloured.

(11) The reaction of Chlorine with NaOH solution 1s a

disproportionation reaction.

(111) Care must be taken while preparing sulphuric acid

solution from concentrated sulphuric acid. 2+3=5

CHINVER TR HLIMECH S TR R LI H I THYTH LN BT RYTRLINI
: 3
3 =
T -]
=
a z
x +
im [ | [ |
AR THW AN IR TRY R N HIE=THY R INEC =T RY R |'\-|I.f'
1% 1YL L O T LS PGS L L PSS et | 1 LR P S s | 1 L I | N 1 L I S 0 | L 0 P 1 LRI L0 L e T Y Rl PN
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37. (a) 443K W TIAA o ol ohl Thamdiyg ToIRgu (ST
gt o 31dvid) |

(b) 379 Y YHgdd T -
(i) WA ¥ e
(i) TIIA | JUH-2-3TdA 3+2=5

HAAT

I3 hrei-eh Ak (A), &R I CoHO 7, Tl hileh FANES
o 1Y AT T gdl 8 | 919 (A) 3l 400 K 3R 3= g W CO,
3R NaOH & H1Y 37(%ehd AT AT &, di Aihreh (B) 9Ied BIdl
2 | Fifieh (B) @fedishd i WX ifieh (C) ZaT B W1 VHifeer Feiiige &
a1y HAMHfhAT ek (D) FHHd Har 8 5 T T Arpy fSER & |
A, B, C 3R D ! ST=AU sJcqd shifolt qer ikt fefau | 5

IIZ'-'I'\-I|.1'I.'. FALHCT LIt TR LR L% e | Y R LHCR LA | VT |
g £
= T
F -
— I.
F -
:
Tt | BRI T D B 1S T N B | S I L] A T Y S
N T R R M N e TR R B H N = TR R R H IS = T R e R e TR R H N TR R R R B TR B R0 T N e TR R0 H T s TRY L Rl
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37. (a) Write the mechanism for dehydration of Ethanol (under
acidic conditions) at 443 K.

(b) How will you convert

(1) Phenol to Toluene, and

(1) Ethanal to Propan-2-ol ? 3+2=5

OR

An organic compound (A) having molecular formula C;H;O
oglves a characteristic colour with aqueous {ferric chloride
solution. When (A) 1s treated with CO, and NaOH at 400 K
under pressure, (B) i1s obtained. The compound (B) on
acidification gives compound (C) which reacts with acetyl

chloride to form (D) which is a popular pain killer. Deduce the
structures of A, B, C and D and write reactions. 5

CHINVER TR HLIMECH S TR R LI H I THYTH LN BT RYTRLINI

: 3
| =
T -]
=

a z
x +
: u i
AR THW AN IR TRY R N HIE=THY R INEC =T RY R |'\-|I.f'
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